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To what extent do you agree or disagree with the following statements: If Stephen Harper and the Conservatives don't

win a majority government, Harper should resign as party leader

DECIDED VOTER - LEANERS INCLUDED

The

Conservative

Party

The Liberal

Party

The New
Democratic
Party (NDP)

Base: All respondents

Unweighted Base

1000

238

254

281

Weighted Base

If Stephen Harper and the Conservatives don't win a

majority government, Harper should resign as party
leader

1000

243

255

274

385 19 131 149
Strongly agree 38.0% 8.0% 51.0% 54.0%
E E
244 a7 71 63
Somewhat agree 24.0% 19.0% 28.0% 23.0%
E
258 105 44 52
Somewhat disagree 26.0% 43.0% 17.0% 19.0%
FGI
113 72 9 9
Strongly disagree 11.0% 30.0% 4.0% 3.0%
FGI
629 66 202 212
Agree (Top2Box) 63.0% 27.0% 79.0% 78.0%
E E
371 177 53 62
Disagree (Low2Box) 37.0% 73.0% 21.0% 22.0%
FGI

small base (under 30) ineligible for sig testing
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To what extent do you agree or disagree with the following statements: If Stephen Harper and the Conservatives don't

win the most seats, Harper should resign as party leader

DECIDED VOTER - LEANERS INCLUDED

The

Conservative

Party

The Liberal

Party

The New
Democratic
Party (NDP)

Base: All respondents

Unweighted Base

1000

238

254

281

Weighted Base

If Stephen Harper and the Conservatives don't win
the most seats, Harper should resign as party leader

1000

243

255

274

397 30 133 154
Strongly agree 40.0% 12.0% 52.0% 56.0%
E E
260 59 71 55
Somewhat agree 26.0% 24.0% 28.0% 20.0%
G
241 95 34 56
Somewhat disagree 24.0% 39.0% 13.0% 20.0%
FGI FI
102 59 18 9
Strongly disagree 10.0% 24.0% 7.0% 3.0%
FGI
658 89 204 210
Agree (Top2Box) 66.0% 37.0% 80.0% 77.0%
E E
342 154 51 64
Disagree (Low2Box) 34.0% 63.0% 20.0% 23.0%
FGI

small base (under 30) ineligible for sig testing
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To what extent do you agree or disagree with the following statements: If Justin Trudeau and the Liberals don't win
the most seats, Trudeau should resign as party leader

DECIDED VOTER - LEANERS INCLUDED

The The New
Conservative The Liberal Democratic
Party Party Party (NDP)

Base: All respondents
Unweighted Base 1000 238 254 281
Weighted Base 1000 243 255 274

If Justin Trudeau and the Liberals don't win the
most seats, Trudeau should resign as party leader

174 81 13 41
Strongly agree 17.0% 33.0% 5.0% 15.0%
FG F
191 53 31 36
Somewhat agree 19.0% 22.0% 12.0% 13.0%
FG
386 81 103 120
Somewhat disagree 39.0% 33.0% 40.0% 44.0%
E
248 28 108 77
Strongly disagree 25.0% 12.0% 43.0% 28.0%
EGI E
366 134 44 77
Agree (Top2Box) 37.0% 55.0% 17.0% 28.0%
FG F
634 109 211 197
Disagree (Low2Box) 63.0% 45.0% 83.0% 72.0%
EGI E

very small base (under 30) ineligible for sig testing

Ipsos Public Affairs
August 26, 2015
FINAL DATA 46 of 83



15-060010-01 - FEDERAL ELECTIONS 2015

Ipsos Public Affairs

August 26, 2015
FINAL DATA

To what extent do you agree or disagree with the following statements: If Thomas Mulcair and the NDP don't win the

most seats, Mulcair should resign as party leader

DECIDED VOTER - LEANERS INCLUDED

The

Conservative

Party

The Liberal

Party

The New
Democratic
Party (NDP)

Base: All respondents

Unweighted Base

1000

238

254

281

Weighted Base

If Thomas Mulcair and the NDP don't win the most
seats, Mulcair should resign as party leader

1000

243

255

274

123 65 22 14
Strongly agree 12.0% 27.0% 9.0% 5.0%
FG
197 49 50 30
Somewhat agree 20.0% 20.0% 20.0% 11.0%
G G
452 98 123 126
Somewhat disagree 45.0% 40.0% 48.0% 46.0%
228 30 60 103
Strongly disagree 23.0% 13.0% 24.0% 38.0%
E EFI
320 115 72 44
Agree (Top2Box) 32.0% 47.0% 28.0% 16.0%
FGI G
680 128 183 230
Disagree (Low2Box) 68.0% 53.0% 72.0% 84.0%
E EF

small base (under 30) ineligible for sig testing
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